[ normalized x? probability |

107}

102F- Lo~ :
1073k
107F
10°F L’
o108 . i i
N RN 901 I
@ o o o it
g oo - = 2 - P e s ahlly '. .
SEEREEEE i A
ogsb—i L 2 L 095 LI B
"0 2 4 6 8 10 12 14 16 18 20 ~0 0102030405060.70809 1
X2 Prol b (x?)

FIT_TT_retrain-low,

i DQM_MKFIT_ lp
m——— DOM_mkFit_TT_NEWdefault_specPLess1-lowpt

— DQM_mkFit_TT_NEWdefault_specPLess2-lowpt

s DQM_mkFit_TT_NEWdefault_specPLess3-lowpt
s DOM_mkFit_TT_NEWdefault_specPLess4-lowpt

< x2/ndf >

Ratio

< x2/ ndf >
< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio
Ratio

101 1 102 0* 107 1072 1071
0 pl 0 AR(track, ]ets)



	Contents
	Page 1


